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Instructions \\/

* Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
GLOL; C2 [2 marks]
Given a function f(x) = —3x? + 2x + 4, identify f(=5) and f(0).
Question 2
CLO1, C2 [5 marks]
(a) Complete the following table for the function of a straight line y = 6x — 3 for range
2 <S6s 2
5% —2 D -1 OB A4 if 2
v =5/ | gl | =8/ 3 1
CLO1, C3 ~/ / / marks]
(b) Plot the graph of straight liney = 6x — 3 forrange -2 < x < 2.~
Question 3
CLO1, C2 [3 marks]‘
Given the straight line AB with the equation of y = 2x — 3.
(a) Identify the y-intercept and x-intercept.
CLO1,C3 [4 marks]
{(b) Given another equation y = —2x + 3. Draw the graph of both lines on the same graph
paper.
CLO1, C3 [2 marks]

(c) Graphically, identify the intersection point of these two lines.
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Instructions
|

= Show your working to get marks. You may use a non-progra

Answer ALL questions. Write your answers in the spaces rovix’!d.

cientific calculator.

Question 1
CLO1;:C2 [2 marks]
Given a function f(x) = —3x? + 2x + 4, identify f(=5) and £(0).
Question 2
CLO1,C2 [5 marks]
(a) Complete the following table for the function of a straight line y = g — 3 for range
—2<x<2. '

% -2 =l 0 P i = 2

y -15 -4,/ -3 / e e
CLO1, C3 / '/ /

(b) Plot the graph of straightliney = 6x —3 forrange -2 < x < 2.( 15 14!

Question 3

CLO1, C2

(a) Identify the y-intercept and x-intercept. \;KjL)

CLO1, C3 P
(b) Given another equation y = —2x + 3.Draw,th\e graph of both lines on the same g
paper. BTy ”65
o e )
CLO1, C3

(c) Graphically, identify the intersection peint of these two lines.
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Instructions :
= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,C2 [2 marks]
Given a function f(x) = —3x?% + 2x + 4, identify f(—5) and f(0).

Question 2
CLO1,C2 [5 marks]
(a) Complete the following table for the function of a straight line y = 6x — 3 for range
—2=x=< 2 :
X -2 =i 0 1 2
)
CLO1,C3 [4 marks]

(b) Plot the graph of straightline y = 6x — 3 forrange —2 < x < 2.

Question 3

CLO1, C2 [3 marks]
Given the straight line AB with the equation of y = 2x — 3.,
(a) Identify the y-intercept and x-intercept. N

CLO1,C3 [4 marks]
(b) Given another equit ion y = —2x + 3. Draw the graph of both lines on the same graph

paper.

CLOL C3 [2 marks]
(c) Graphically, identify the intersection point of these two lines.
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Instructions
| |

fic calculator.

Question 1
CLO1,C2 [2 marks]
Given a function f(x) = —3x? + 2x + 4, identify f(=5) and f(0).
Question 2
CLO1, C2 [5 marks]
(a) Complete the following table for the function of a straight line y = 6x — 3 for range
—2<x<2
x = vl =1 s 0 1 2
y :/'5// =Y/ = ./ A
CLO1,C3 / [4 marks]
(b) Plot the graph of straightliney = 6x — 3 forrange =2 < x < 2.
Question 3
cLo1, C2 [3 marks]’
Given the straight line AB with the equation of y = 2x — 3.
(a) Identify the y-intercept and x-intercept.
CLO1,C3 [4 marks]
(b) Given another equation y = —2x + 3. Draw the graph of both lines on the same graph
paper.
CLO1, C3 [2 marks]

(c) Graphically, identify the intersection point of these two lines.
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Instructions \/
L

Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1, C2 [2 marks]
Given a function f(x) = —3x? + 2x + 4, identify f(=5) and f(0).

Question 2
CLO1,C2 [5 marks]
(a) Complete the following tablg/for the function of a straight line y = 6x — 3 for range
—2<x<2. Y /
X -2/ A 0 1'% 4
y £l 7/ = 3/ a/
N A P4
CLO1, C3 < [4 marks]
(b) Plot the graph of straightline y = 6x — 3 forrange —2 < x < 2.
Question 3
CL01,C2 . 3 marks]‘
Given the straight line AB with the equation of y = 2x — 3.
(a) Identify the y-intercept and x-intercept.
CLO1,C3 [4 marks]
(b) Given another equation y = —2x + 3. Draw the graph of both lines on the same graph
paper.
CLO1,C3 . [2 marks]
(c) Graphically, identify the intersection point of these two lines.
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Instructions

* Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLOL, T2 : [2 marks]
Given a function f(x) = —3x2% + 2x + 4, identify f(—5) and £(0).

Question 2
CLO1,C2 [5 marks]
(a) Complete the following table for the function of a straight line y = 6x — 3 for range
A
x e = 0 1 2
¥ oo\ =9 3 S |
LoL, 3 : [4 marks]
/b) Plot the graph of suzightliney = 6x —3forrange—2 < x < 2.
Question 3
CLO1, C2 = - [3 marks]'
Given the straight line AB with the equation of y = 2x — 3. :
//{ﬁ) Identify the y-intercept and x-intercept. ]
CLO1,C3 [4 marks]
{(b) Given another equation y = —2x + 3. Draw the graph of both lines on the same graph
= paper.
CLO1,C3 [2 marks]

(c) Graphically, identify the intersection point of these two lines.
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